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	TEKS: 3.2A Compose and decompose number up to 100,000 as a sum of so many ten thousands, so many thousands, so many hundreds, so many tens, and so many ones using objects, pictorial models, and numbers, including expanded notation as appropriate. 
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	Module 2 Topic C Lesson 10 Exit Ticket
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	Module 2 Lesson 11 Exit Ticket
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	TEKS: 3.2D Compare and order whole numbers up to 100,000 and represent comparisons using symbols >,<, or =
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	Module 2 End of Module, 5D
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	TEKS: 3.3F Represent equivalent fractions with denominators of 2, 3, 4, 6, and 8 using a variety of objects and pictorial models, including number lines. 
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	Module 5 End of Module, 2
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	Module 5 End of Module Assessment 
#4 Part C
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	TEKS: 3.3H Compare two fractions having the same numerator or denominator in problems by reasoning about their sizes and justifying the conclusion using symbols, words, objects, and pictorial models.  
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	Module 5 End of Module Assessment
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	Module 5 Mid Module Assessment
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	TEKS: 3.4A The student is expected to: solve with fluency one-step and two-step problems involving addition and subtraction within 1,000 using strategies based on place value, properties of operations, and the relationship between addition and subtraction.  
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	Module 2 Lesson 20 Problem Set
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	Module 2 Lesson 22 Exit Ticket
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	Module 2 Lesson 18 Exit Ticket
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	Module 2 Lesson 22 Problem Set
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	Module 2 Lesson 22 Problem Set
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	Module 2 Lesson 23 Problem Set
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	TEKS: 3.4K Solve one-step and two-step problems involving multiplication and division within 100 using strategies based on objects; pictorial models, including arrays, area models, and equal groups; properties of operations; or recall of facts
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	Module 3 Lesson 14 Exit Ticket
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	Module 1 End of Module Assessment
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	Module 3 Lesson 17 Problem Set
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	Module 3 End of Module Assessment
[image: ]

	[image: ]
	[image: ]

	TEKS: 3.5A Represent one- and two-step problems involving addition and subtraction of whole numbers to 1,000 using pictorial models, number lines, and equations
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	Module 2 Lesson 18 Problem Set
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	TEKS: 3.5B Represent and solve one and two step multiplication and division problems within 100 using arrays, strip diagrams, and equations 
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	Module 1 Lesson 21 Problem Set 
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	Module 1 End of Module Assessment
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	Module 1 Lesson 20 Exit Ticket
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	TEKS: 3.5E Represent real world relationships using number pairs in a table and verbal descriptions
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	Module 3 Mid Module Assessment (multiplicative comparison only)
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	TEKS: 3.6A Classify and sort two and three dimensional figures, including cones, cylinders, spheres, triangular and rectangular prisms, and cubes, based on attributes using formal geometric language.
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	Module 7 Mid Module Assessment
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Module 7 Lesson 4 Problem Set
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	Module 7 Mid Module Assessment
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	Module 7 Lesson 7 Exit Ticket
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	TEKS: 3.6C determine the area of rectangles with whole number side lengths in problems using multiplication related to the number of rows times the number of unit squares in each row. 
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	Module 4 End of Module Assessment
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	Module 4 Mid Module Assessment
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Module 4 Lesson 3 Problem Set
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	Module 4 End of Module Assessment
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	Module 4 End of Module Assessment
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Module 4 Lesson 4 Problem Set
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	TEKS: 3.7B determine the perimeter of a polygon or a missing length when given perimeter and remaining side lengths in problems. 
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	Module 7 End of Module Assessment
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	Module 7 End of Module Assessment
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	Module 7 End of Module Assessment
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	Module 7 Lesson 14 Exit Ticket
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	TEKS: 3.8A summarize a data set with multiple categories using a frequency table, dot plot, pictograph, or bar graph with scaled intervals. 
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	Module 6 Lesson 14 Problem Set
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	Module 6 End of Module Assessment
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	Module 6 Lesson 7 Problem Set
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	Module 6 Lesson 5 Exit Ticket
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	Module 7 End of Module Assessment
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3.2(A) compose and decompose numbers up to 100,000 as a sum of so many ten thousands, so many
thousands, so many hundreds, so many tens, and so many ones using objects, pictorial models, and
numbers, including expanded notation as appropriate

2019-Q4
The expanded form of a number is shown.

90,000 + 200 + 40 + 1
What is the standard form of this number?

F 9,241
G 92,041
H 90,241
J 90,421

*Correct Answer (H)
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3.8(A) summarize a data set with multiple categories using a frequency table, dot plot, pictograph, or
bar graph with scaled intervals

2021-Q23

23 The pictograph shows the number of each type of balloon animal a clown made
on Tuesday.

Balloon Animals

bos |POO®
Monkey ’e

Rabbt |9 €900 @
Bear |9 Q@

Each®means 2 animals.

Which table correctly represents the data?

A Balloon Animals c Balloon Animals
5 Number of : Number of
Az Balloons anins Balloons
Dog 4 Dog 4
Monkey 2 Monkey 2
Rabbit 5 Rabbit 6
Bear 3 Bear 3
B Balloon Animals D Balloon Animals
. Number of Number of
o Balloons A Balloons
Dog 8 Dog 8
Monkey 4 Monkey e
Rabbit 12 Rabbit 10
Bear 6 Bear 6

*
Correct Answer (B)
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The picture graph below shows data from a survey of students’ favorite sports.

Favorite Sports

O
s S

0000
000

Football Soccer Tennis Hockey

Each O represents 3 students.

a. The same number of studentspicked _______and_________as their favorite sport.

b. How many students picked tennis as their favorite sport?

c.  How many more students picked soccer than tennis? Use a number sentence to show your thinking.

d. How many total students were surveyed?
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3.8(A) summarize a data set with multiple categories using a frequency table, dot plot, pictograph, or
bar graph with scaled intervals

2019-Q3

Alberto ran for exercise every day for 16 days. The table shows how many days
he ran each distance.

Exercise
1 1
Distance (miles) 1 1 3 2 ZE 3
Number of Days | [ | WL [ Il | Il | I

Which dot plot represents these data?

Exercise Exercise
. L d
. . Ld .
. . . . . .

A e o o o o C e o o o o
. . . . L d . . . . .
<«t—+—t—F+—+> <«t—+—+—F+—+>
1 2 3 1 2 3
Distance (miles) Distance (miles)
Exercise Exercise

Distance (miles) Distance (miles)

*Coluct Answer (A)
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4. Mr. Jackson’s class finds all possible perimeters for a rectangle composed of 36 centimeter tiles. The chart
below shows how many students found each rectangle.

Perimeter Number of Students
24cm 6
26cm 9
30cm S
40cm 7
74cm 4
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b. Use the chart. Estimate to construct a dot plot of how many students found each perimeter.

Number of Students Who Found Each Perimeter

20

30 40 50 60 70

Perimeter in Centimeters ©® =1Student
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© 2019-022

A school keeps boxes of paper of different colors in a room. The table shows how
many boxes of each color are in the room.

Boxes of Paper

Color Number
White 48
Yellow 24
Blue 42
Red 18

Which answer choice does NOT represent the information in the table?

Boxes of Paper Boxes of Paper

Color Number
Whit
white [T THUTHLTHU TG )
THETHLTHL T 5 Yellow
F H 2
Yellow | THUTHLTHE LTI S bue
THUTHLTHETHU T R
BI ed
e JTHUCTHL
0 8 16 24 32 40 48
Red  [THUTHU LTI Number
Boxes of Paper Boxes of Paper

N = fi ’ =E =
= = == =E
White Yellow Blue Red White Yellow Blue Red
gach @l means 12 boxes. £ach @ means 6 boxes.
*
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1. Label the missing place value units. Then, write the number in standard form.

hundreds | tens | ones |

Standard form:

2. Write the numbers in standard form. Be sure to place commas where appropriate.
a. 5thousands 1 hundred 6 tens 8 ones =

b. 3 thousands 4 ten thousands 7 hundreds 2 ones 1 ten =
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3.2(A) compose and decompose numbers up to 100,000 as a sum of so many ten thousands, so many
thousands, so many hundreds, so many tens, and so many ones using objects, pictorial models, and
numbers, including expanded notation as appropriate

© 2019-q7

Which answer choice does NOT describe the number 7,140?
A The sum of seven thousands and fourteen tens

B The sum of seven thousands, one hundred, and forty tens
C The sum of seven thousands, one hundred, and four tens

D The sum of seven thousands, one hundred, and forty ones

*Correct Answer (B)
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1. Use the place value chart below to complete the following:

a. Label the units on the chart,
b. Write the number 70,000 + 5,000 + 400 + 80 + 1 in the place value chart.
¢.  Write the number in expanded notation.

2. Write forty-six thousand, three hundred, thirty-five in expanded notation.
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’3.2(D)compare and order whole numbers up to 100,000 and represent comparisons using the symbols
>, < 0r=

2022 -Q1

1 Which comparison is true?

A 68 > 649
B 571 > 582
C 730 < 806

D 709 < 692

*Correct Answer (C )
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‘Compare using >, <, or = . Write your answer inside the circle.

a. 20219 O 20,129

b. 2,000 + 8 ones + 3 tens O 2,830
¢. 52 thousands 6 hundreds O 52,600

d. 17,499 O 17 thousands 5 tens
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3.2(D) compare and order whole numbers up to 100,000 and represent comparisons using the symbols

o= Analysis of Assessed Standards
Representation and
Cluster Comparison of Whole
Numbers
2022-Q19 i
‘Comparison of Whole
Subcluster | FOMPrS

19 Four students with number cards want to line up from left to right
in order from least to greatest number.

>/ Right

Stimulus

Erin Rico Penelope Olivia
Which statement is true?
A Olivia should be between Erin and Rico.
B Erin should be on the right end after Olivia.
C Penelope should be on the right end after Olivia.

D All the students are in the correct order.

*Correct Answer (C )

Data Analysis.

Error Analysis
O Guessing

O Stopped Too Early
0 Mixed Up Concests:

o Q2 o >
2
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d. The table shows the number of passengers in 2017 for three regional airports in Texas.
Write the names of the airports in order from greatest to least according to the number of passengers.

Airport Passengers in 2017
Biggs Army Airfield 26,730

East Texas Regional 22,480
Jack Brooks Regional 26,518
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3.2(D) compare and order whole numbers up to 100,000 and represent comparisons using the symbols
> < 0r=

2019-Q1

Which list shows the numbers in order from greatest to least value?
A 38,945 9,052 9,181

B 6,912 29,013 34,987

C 58,702 50,716 581

D 6,092 60,019 5,005

*
Correct Answer (C)
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Circle the letter of the correct answer.
7. Which list shows the numbers in order from least to greatest?
A 53,607 53,670 53,760 56,370
B 53,670 53,607 53,760 56,370
C 56,370 53,760 53,670 53,607
D 53,607 53,760 53,670 56,370
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3.3(F) represent equivalent fractions with denominators of 2, 3, 4, 6, and 8 using a variety of objects
‘and pictorial models, including number lines

2022-Q26

26 The fraction strips shown can be used to find equivalent fractions.

Which fraction is equivalent to %?

G

Alw olNv N

-
W=

*Com.-ctAnmr (F)
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2. Jerry used the picture below to show his son how to find a fraction equal to ; Explain what Jerry might
have said and done using words, pictures, and numbers.
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3.3(F) represent equivalent fractions with denominators of 2, 3, 4, 6, and 8 using a variety of objects
and pictorial models, including number lines

© 2021-a21

21 Irene has a group of counters, as shown.

| JOl0®;
OO0

Which two fractions can represent the black counters in the group?

>

Al al= W= o|n
»
3
a

@
o
H]
a

(e}
»
3
a

o
2
=Y
alnv ®o|v alnv o|n

*Covua Answer (C)





image18.png
6. Which fractions are equivalent to the shaded portion of the model?

F Zandt
R
G Zand2
P
H lang2
2, -
1 Zangl 1
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3.3(F) represent equivalent fractions with denominators of 2, 3, 4, 6, and 8 using a variety of objects
and pictorial models, including number lines

© 2019-a19
Point P on the number line represents two equivalent fractions.
P

< . t t >
0 1

Which two equivalent fractions can point P represent?

A %and%
B %and%
[ %and%
D %and%

.Covrect Answer (C)
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4.

Jerry has a fruit roll that is 4 feet long.

a. Label the number line to show how Jerry might cut his fruit roll into pieces%of afoot long. Label
every fraction on the number line, including renaming the wholes.

—t 1 } } :
oft 1ft 2ft 3ft 4ft

b. Jerry cut his fruit roll into pieces that are X of a foot long. Jerry and his 2 sons each eat one piece.
What fraction of the whole fruit roll is eaten? Explain your answer using words, pictures, and numbers.

c. Jerry’s son says that 1 third is the same as 2 sixths. Do you agree? Why or why not? Use words,
pictures, and numbers to explain your answer.
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3.3(H) compare two fractions having the same numerator or denominator in problems by reasoning
about their sizes and justifying the conclusion using symbols, words, objects, and pictorial models

2022-Q3

3 A student measured the lengths of two worms.

1
2
2

* Worm T was 5 foot long.

Which statement is true?

* Worm S was = foot long.

A The length of Worm S is greater than the length of Worm T.
B The length of Worm T is greater than the length of Worm S.
C The length of Worm S is equal to the length of Worm T.

D There is not enough information to compare the lengths of the
worms.

.Covrect Answer (B )
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5. Daniel makes a pizza. He puts onions on % of the pizza and ham on % of the pizza.

Which statement about the toppings is true?

A

§= %, the same amount of the pizza is covered with each topping because the number of units
is the same.

-, more of the pizza is covered with onions because eighths are larger than sixths.

w|u mlu
o~|u mlu

-, more of the pizza is covered with ham because sixths are larger than eighths.

63< %, more of the pizza is covered with onions because sixths are smaller than eighths.
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3.3(H) compare two fractions having the same numerator or denominator in problems by reasoning
about their sizes and justifying the conclusion using symbols, words, objects, and pictorial models

2021-Q17

17 Fraction strips are shown.

Which comparison is true?

all
5<%
cisl

’Co'rect Answer (A)
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1. Complete the number sentence by writing >, <, or =,

H K
5T 9

2. Draw 2 number lines with endpoints 0 and 1 to show each fraction in Problem 1, Use the number lines to
explain how you know your comparison in Problem 1 is correct.
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3.3(H) compare two fractions having the same numerator or denominator in problems by reasoning
about their sizes and justifying the conclusion using symbols, words, objects, and pictorial models

2021-Q26

26 The models shown are the same size. Each model is divided into equal-size parts
and is shaded to represent a fraction.

Which statement is true?

F % < % because sixths are smaller parts than eighths
6 8
G <% because 6 out of 8 parts is less than 8 out of 8 parts
H % > %, because sixths are larger parts than eighths
6 _8 N
J s > 3 because 6 out of 8 parts is greater than 8 out of 8 parts

*Com:ct Answer (G)
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3. Jerry and his son have the exact same granola bars. Jerry has eaten % of his granola bar. His son has

eaten % of his own granola bar. Who has eaten more? Explain your answer using words, pictures, and
numbers.
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3.3(H) compare two fractions having the same numerator or denominator in problems by reasoning
about their sizes and justifying the conclusion using symbols, words, objects, and pictorial models

O 2019-013

Fraction strips are shown.

Which comparison and explanation are true?

A % % because eighths are larger than sixths
5 5

B 5 <3 because sixths are larger than eighths
5_5

C 6”8 because eighths are larger than sixths
5_5

D E 8 because sixths are larger than eighths

*
Correct Answer (D)
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4. The bakery had a chocolate cake and a vanilla cake that were exactly the same size. Mr. Chu bought
1 fourth of the chocolate cake. Mrs. Ramirez bought 1 sixth of the vanilla cake. Who bought a larger piece
of cake? Explain your answer using words, pictures, and numbers.
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‘solve with fluency one-step problems involving addition and subtraction within
w wmm.-mmmdm-ﬂmmm

2022-Q17

17 A movie theater has 710 seats.

e 158 seats are red.

e 247 seats are black.

e 119 seats are yellow.

e The rest of the seats are green.

How many seats are green?
A 186
B 524
C 214
D 206

*Correct Answer (A )
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4. The total length of a rope is 208 centimeters. Scott cuts it into 3 pieces. The first piece is 80 centimeters
long. The second piece is 94 centimeters long. How long is the third piece of rope?
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3.4(A) solve with fluency one-step and two-step problems involving addition and subtraction within
1,000 using strategies based on place value, properties of operations, and the relationship between
addition and subtraction

2022 -Q32

32 At the beginning of September, Mr. Watkins had 543 erasers.

* During September he gave his students 99 of the erasers.
« During October he gave his students 212 of the erasers.

How many erasers did Mr. Watkins have at the end of October?
F 854
G 232
H 430
J 344

*Correct Answer (G)
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Kathy buys a total of 416 grams of frozen yogurt for herself and a friend. She buys 1 large cup and 1 small
cup.

Large Cup

363 grams

Small Cup

? grams

a. Estimate how many grams are in the small cup of yogurt by rounding.

b. Estimate how many grams are in the small cup of yogurt by rounding in a different way.

¢.  How many grams are actually in the small cup of yogurt?
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3.4(A) solve with fluency one-step and

‘two-step problems involving addition and subtraction within
1,000 using strategies based on place value, properties of operations, and the relationship between
addition and subtraction

2021-Q3

3 A theater sold tickets for three movies. The table shows the number of tickets

sold for each movie.

Movie Tickets Sold

Movie 1 2 3
Number of
Tickets 143 158 175

What was the total number of tickets the theater sold for these three movies?

A 476
B 366
C 376
D 473

’Coneﬂhuwer (A)
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2. The third-grade class sells lemonade to raise funds. After selling 58 liters of lemonade in 1 week, they still
have 46 liters of lemonade left. How many liters of lemonade did they have at the beginning?
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wmmmmwmmmmmmm

1,000 using strategies based on place value, properties of operations, and the relationship betvieen
addition and subtraction

2021-020
20 There are two lions at a zoo. The weight of the younger lion is 379 pounds. The

weight of the older lion is 514 pounds.
What is the difference in pounds between these two weights?
F 2351b
G 1351b
H 2651b
J 1451b

'erecl Answer (G)
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2. Camden uses a total of 372 liters of gas in two months. He uses 184 liters of gas in the first month. How
many liters of gas does he use in the second month?

a. Estimate the amount of gas Camden uses in the second month by rounding each number as you think
best.

b. How many liters of gas does Camden actually use in the second month? Model the problem with a
strip diagram.
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3.4(A) solve with fluency one-step and two-step problems involving addition and subtraction within
1,000 using strategies based on place value, properties of operations, and the relationship between
addition and subtraction

2019-Q15

Roger has two boxes of nails. One box has 438 nails, and the other box has
375 nails.

How many nails does Roger have in these two boxes?
A 813
B 703
C 814
D 713
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3. The weight of a pear, apple, and peach are shown to the right. The
pear and apple together weigh 372 grams. How much does the
peach weigh?

a. Estimate the weight of the peach by rounding each number as
you think best. Explain your choice.

b. How much does the peach actually weigh? Model the problem with a strip diagram.
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3.4(A) solve with fluency one-step and two-step problems involving addition and subtraction within
1mm-mn-nmmm properties of operations, and the relationship between

2019 -0Q24

Samantha, Gordon, and Diego each brought an ice chest to a picnic.

* The weight of Samantha’s ice chest was 83 pounds.
* The weight of Gordon’s ice chest was 28 pounds.
« The weight of Diego’s ice chest was 37 pounds.

What was the difference in pounds between the weight of Samantha’s ice chest
and the combined weight of Gordon’s and Diego’s ice chests?

Record your answer and fill in the bubbles on your answer document. Be sure to
use the correct place value.

'Coned Answer (18)
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4. Shane watches a movie in the theater that is 115 minutes long,
including the trailers. The chart to the right shows the length in
minutes of each trailer.

b.

C.

Find the total number of minutes for all 5 trailers.

Estimate to find the length of the movie without trailers.
Then, find the actual length of the movie by calculating the
difference between 115 minutes and the total minutes of
trailers.

Is your answer reasonable? Explain why.

Trailer Length in minutes
1 5 minutes
2 4 minutes
3 3 minutes
4 5 minutes
5 4 minutes
Total
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3.4(K) solve one-step and two-step problems involving multiplication and division within 100 using

strategies based on objects; pictorial models, including amrays, area models, and equal groups;
pproperties of operations; or recall of facts
2022-Q14

14 A group of people bought tickets for a roller-coaster ride.

* The group spent $4 for each ticket.
* Altogether the group spent $48 on tickets.
* Each person in the group got 2 tickets.

How many people were in the group?

Record your answer and fill in the bubbles on your answer
document. Be sure to use the correct place value.

’Conectmwer(s)
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2. Marlon buys 9 packs of hot dogs. There are 6 hot dogs in each pack. After the barbeque, 35 hot dogs are
left over. How many hot dogs were eaten?
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2022 - Q3

30 Alex bought 4 packages of pink golf balls and 2 packages of orange
golf balls. There were 12 golf balls in each package.

How many golf balls did Alex buy?
F 72
G 50
H 96
J 18

*WM“(F)
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3. Ms. Park buys a tray of apples for a class party. There are 5 rows of 4 red apples. There is 1 row of 4 green
apples.

a. The picture below shows Ms. Park’s apples. Fill in the blanks to complete the expressions.

OOOO Red apples:
Total apples: OOOO x4
T2 0000 | —
— O00O

OOOO } Greer:e;pples:

b. Fillin the unknowns in the equation below to match the picture of the apples in Part (a). Use the
break apart and distribute strategy to find the total number of apples Ms. Park bought.

x4= x4+ x4
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3.4(K) solve one-step and two-step problems involving multiplication and division within 100 using
strategies based on objects; pictorial models, including arrays, area models, and equal groups;
properties of operations; or recall of facts

© 2021-a10

10 Miriam had 63 flowers and 9 vases.

* She threw away 9 flowers that had broken stems.
« She put an equal number of all the flowers she had left into each vase.

What is the greatest number of flowers Miriam put into each vase?

F 2

*Correct Answer (J)
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3. Pearl buys 125 stickers. She gives 53 stickers to her little sister. Pearl then puts 9 stickers on each page of
her album. If she uses all of her remaining stickers, on how many pages does Pearl put stickers?
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3.4(K) solve one-step and two-step problems involving mulfiplication and division within 100 using
strategies based on objects; pictorial models, including amrays, area models, and equal groups;

31 Hector played a game 14 times. Each time he played, he threw 4 red balls and
3 green balls at a target.

What was the total number of balls Hector threw at the target?
A 21
B 68
C 98
D 46

’Com!x Answer (C)
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2. Aunt Korina’s 3 friends each order pasta and a lemonade for lunch.
Aunt Korina orders only chicken salad.

a. Use the menu to find how much they spend altogether.

b. Aunt Korina mentally checks the total using 4 x $9. Explain her strategy.

Lunch Menu

Pasta $7

Chicken Salad ~ $9

Lemonade $2





image49.png
strategies based on objects; pictorial models, including arrays, area models, and equal groups;
properties of operations; or recall of facts

© 2019-026

There are 3 basketball teams practicing together in a gym.

« Each team has 10 players.
« All of the players are used to make 6 groups during the practice.
« There is an equal number of players in each group.

How many players are in each group?
F 180

G 6

H 24

15

’CmmAnmru)
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2. Marlon buys 9 packs of hot dogs. There are 6 hot dogs in each pack. After the barbeque, 35 hot dogs are
left over. How many hot dogs were eaten?
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S R e e s e

2022-Q21

21 The total number of keys on a computer keyboard is 87.

« There are 26 letter keys and 21 special symbol keys on the
keyboard.
« The rest of the keys are function keys.

Which model represents one way to find the number of function
keys on the keyboard?

Function Special symbol Letter
A <« + t t t + + : + P
o 10 20 30 40 50 60 70 80 20
87
B
26 21 ?
Special  Letter
¢ symbol v Function
< i j + + t t + + >
o 10 20 30 40 50 60 70 80 90
?
D

26 21 87

-
‘Correct Answer (8)
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2. Lane makes sauerkraut. He weighs the amounts of cabbage
and salt he uses. Draw and label a strip diagram to find the
total weight of the cabbage and salt Lane uses. @

855 907 [358 93g
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3.5(A) represent one- and two-step problems involving addition and subtraction of whole numbers to
Immmmwmum

2021-Q22

22 A cafeteria sold a total of 513 drinks on Wednesday. The table shows the number
of each type of drink that was sold. The number of botties of milk is missing from

the table.
Drinks Sold
Type of Drink Number Sold
Bottles of apple juice 172
Bottles of milk ?
Bottles of water 263

‘Which set of equations can be used to find the number of bottles of milk sold?

F 1724263 =435
513+435=D

G 263-172=091
513—91=:|

H 513-172 = 341

341 .263—D

J 1724263 - 435

s13-435 -]

*Correct Answer (J)




image54.png
3.5(B) represent and solve one- and twe-step multiplicaton and division problems within 100 using
arrays, strip diagrams, and equations

2022-Q12
12 Janet has 2 new games.

« Each game has 3 packs of cards.
« Each pack has 10 cards.

Which model can be used to find the total number of cards Janet
has for these 2 games?

F| 10| 10 | 10 10 | 10 | 10
G| 3 3 3 3 3 3
H| 3 10 3 10

J 10 10

*Correct Answer (F )
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1. Jason earns $6 per week for doing all his chores. On the fifth week, he forgets to take out the trash, so he
only earns $4. Write and solve an equation to show how much Jason earns in 5 weeks.

$6 sa

—

Jason

Jason earns
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3.5(B) represent and solve one- and two-step multiplicaton and division problems within 100 using
arrays, strip diagrams, and equations

O 2021-029

29 Cassandra used all the balloons in 11 packages to decorate for a party.

« There were 6 balloons in each package.
« Half of the balloons in each package were red.

Which equation can be used to find the total number of red balloons Cassandra
used?

A11x6-3=63

B 11x6+2=33

C11-6+2-7

D11x6+3=22

*Correct Answer (B)
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Circle the letter of the correct answer.

6. Jalen grows vegetables in a community garden. He has 32 vegetable plants and wants to place 4 plants in
«each row. Which equation can be used to find how many rows of vegetables Jaden can plant?

A 32+4-m
B 32x4-m
c 32:4-m
D 32-4-m
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3.5(B) represent and solve one- and two-step multiplication and division problems within 100 using
Im-bﬁ'—.-!..u-l-

2019-Q32

Yolanda made 11 sandwiches for a picnic. She used 2 pieces of bread for each
sandwich.

‘Which strip diagram can be used to find the number of pieces of bread Yolanda
used?

*Correct Answer (J)
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1. Thirty-two jelly beans are shared by 8 students.

32 jelly beans
|

a. How many jelly beans will each student get?

b. How many jelly beans will 4 students get?
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3.5(E) represent real-world relationships using number pairs in a table and verbal descriptions

2022 -Q9

9 The table shows the numbers of tomato plants and spinach plants
in five different gardens.

Garden Plants

Garden | Number of Tomato Plants | Number of Spinach Plants
K 34 43
L 26 35
M 38 47
N 29 38
P 45 54
Based on the relationship shown in the table, which statement is
true?
A There are 9 more spinach plants than tomato plants in each

garden.

There are 9 fewer spinach plants than tomato plants in each

garden.

There are 8 more spinach plants than tomato plants in each

garden.

There are 8 fewer spinach plants than tomato plants in each

garden.
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4 a. Fabrizio wins a bumblebee doll with 6 stripes. He notices that 5 other children in line for the Magic
Show won the same doll. How many stripes are on 6 bumblebee dolls? Write an equation using a

an empty box to represent the unknown. Solve.

The magician uses a magic box. Every time he puts an object in, it gets multiplied. Fabrizio writes
down what happens each time and tries to find a pattern. Look at his notes to the right.

b. Use the pattern to fill in the number of bean bags.

c. Write a sentence using the words "times as many"
to explain how the number of objects that come out
of the box are related to the number of objects that
the magician puts into the box.

In Out
2 Feathers 14 Feathers
3 Marbles 21 Marbles
4 Dice 28 Dice
5 Wands 35 Wands
6 Bean bags ___Beanbags
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3.5(E) represent real-world relationships using number pairs in a table and verbal descriptions
O 2021-q27

27 Each day a bakery makes cookies and muffins. The number of cookies the bakery
makes is always 12 more than the number of muffins it makes.

Which table shows the relationship between the number of muffins and the
number of cookies this bakery makes?

A Bakery Muffins and Cookies
Number of Muffins 6 18 30 | 42
Number of Cookies 12 [ 24 | 36 | 48

B Bakery Muffins and Cookies
Number of Muffins 24 | 36 | 48 | 60
Number of Cookies 12 24 36 48

c Bakery Muffins and Cookies
Number of Muffins 1 2 2 4
Number of Cookies 12 | 24 36 | 48

D Bakery Muffins and Cookies
Number of Muffins 12 | 24 36 | 48
Number of Cookies 24 | 36 | 48 | 60

*Correct Answer (D)
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[ 3.6(A) classify and sort two- and three-dimensional figures, including cones, cylinders, spheres,
triangular and rectangular prisms, and cubes, based on attributes using formal geometric language

2022 -Q13

13 Leighton made a table that correctly shows the attributes of
shapes. She used a check mark to identify the attributes of each
shape.

Which table could be the one Leighton made?

0{Aalo o

A
v

U
A cgri:ices \/ ‘/ c::tices ‘/
Quadrilateral / / Quadrilateral /

<O
DN [
<>

Has Has
B | Vertices p | Vertices
Quadrilateral \/ Quadrilateral

*Correct Answer (C )
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1. Three shapes are shown below.

a. Circle the shape(s) with exactly one pair of parallel sides.
b. Cross out the shape(s) with two pairs of parallel sides.

c. Which of the three shapes are quadrilaterals? Explain how you know.
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1. Cutout all the polygons (A-L) in the Template. Then, use the polygons to complete the following chart.

Attribute ‘Write the letters of the polygons in Sketch 1 polygon from the group.
‘this group.

Example: N

oo Polygons: Y,Z 7

4 Sides. Polygons:

Exactly 1 Set of Polygons:
Parallel Sides

2Sets of Parallel | Polygons:

4Right Angles | Polygons:

4Right Anglesand | Polygons:
4Equal Sides
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3.6(A) classify and sort two- and three-dimensional figures, including cones, cylinders, spheres,
triangular and rectangular prisms, and cubes, based on attributes using formal geometric language

2022 - Q22

22 Chris built a fort using prisms. Which figure is NOT one Chris could
have used to build his fort?

]
'
F E H

ceaden | .

¢ 5 ,

*Correct Answer (J)
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2. Tyler classifies figures A-D as prisms. He says they are
all prisms because they have two opposite bases that are
congruent. Explain why Tyler’s reasoning is wrong and circle
the figure that is not classified correctly.
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|3.6(A) classify and sort two- and three-dimensional figures, including cones, cylinders, spheres,
triangular and rectangular prisms, and cubes, based on attributes using formal geometric language

2021-Q30

30 The objects shown can be classified into groups based on their shape.

G=>

o B wE

Can Eraser Toolbox Drum

Which table best represents the classifications for these objects?

F Classifications H Classifications
Group Object Group Object
Eraser Eraser
Prism Prism
Toolbox Toolbox
Can Can
Cylinder Sphere
Drum Drum
G Classifications J Classifications
Group Object Group Object
Eraser Eraser
Cube Cylinder
Toolbox Toolbox
Can Can
Cylinder Prism
Drum Drum

*Correct Answer (F)
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John looked at these solid figures and said that they could only be sorted into two groups: prisms and
cylinders. Explain John’s mistake.
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3.6(A) classify and sort two- and three-dimensional figures, including cones, cylinders, spheres,
triangular and rectangular prisms, and cubes, based on attributes using formal geometric language

2019-Q30

The figures shown can be sorted into groups.

O LT AN

Which list shows a correct way to group these figures?

F 1 triangle, 3 quadrilaterals, and 1 pentagon
G 1 triangle and 4 quadrilaterals
H 1 triangle, 3 quadrilaterals, and 1 hexagon

J 1 triangle, 2 quadrilaterals, and 2 pentagons

*Correct Answer (F)
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3.6(C) determine the area of rectangles with whole number side lengths in problems using
multiplication related to the number of rows times the number of unit squares in each row’

2022 -Q5

5 The rectangular floor of Ms. Ragan’s closet is completely covered
with carpet squares. Each carpet square covers 1 square foot of the
floor. There are 4 rows, and each row has 16 carpet squares.

What is the area of the floor of this closet in square feet?

Record your answer and fill in the bubbles on your answer
document. Be sure to use the correct place value.

*Correct Answer (64 )
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2. Draw three different arrays that you could make with 36 square inch tiles. Label the side lengths on each
of your arrays. Write multiplication sentences for each array to prove that the area of each array is
36 square inches.
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2022 -Q18

18 Ms. Gonzalez is putting square stickers on a rectangular poster.
Each sticker has an area of 1 square inch. She has already put
some stickers on the poster as shown.

clolcicicigig)

[CRICIOCIGC

What is the area of the entire poster in square inches?
F 56
G 42
H 48
J 15

*Correct Answer (F)




image74.png
4. Jax started to draw a grid inside the rectangle to

find its area.

a. Use a straight edge to complete the drawing
of the grid.

b. Write a skip-count sequence you could use to
find the area.

c.  Write a multiplication equation that you could

use to find the area, and then solve.
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3.2(A) compose and decompose numbers up to 100,000 as a sum of so many ten thousands, so many
thousands, so many hundreds, so many tens, and so many ones using objects, pictorial models, and
numbers, including expanded notation as appropriate

2022 - Q24

24 An expression is shown.

5+ 700 + 40

What number is equivalent to this expression?

Record your answer and fill in the bubbles on your answer
document. Be sure to use the correct place value.

*Correct Answer (745 )
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4. Abdul is creating a stained glass window with square inch glass tiles as shown below. How many more
square inch glass tiles does Abdul need to finish his glass window? Explain your answer.
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3.6(C) determine the area of rectangles with whole number side lengths in problems using
multiplication related to the number of rows times the number of unit squares in each row

2021-Q7

7 Workers at a school are covering a rectangular patio with square tiles. Each
square tile has an area of 1 square yard. The figure shows the part of the patio
that has already been covered with square tiles.

= 1 square yard

What is the area of the entire patio in square yards?
A 105 square yards

B 90 square yards

C 98 square yards

D 84 square yards

*Correct Answer (A)
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5. Maria draws a diagram of two rooms in the local senior center.
Her aunt uses the diagram to determine the number of square
feet of carpeting needed to cover the floors of both rooms.
What is the total area of the carpeting in square feet?

Record your answer and fill in the bubbles. Be sure to use the
correct place value.

PCECOOOOOEOO
EPEOOOOOEOO
CECPOOEEOO

[TTTT

[TTT

D =1 square foot
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2021 -Q18

18 Heidi is making a rectangular card. The shaded rectangle on the grid represents
the card.

= 1 square centimeter

What is the area of this card in square centimeters?
F 18 square centimeters
G 36 square centimeters
H 90 square centimeters
J 81 square centimeters

*Correct Answer (J)
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1. Sarah says the rectangle on the left has the same area as the sum of the two on the right. Pam says they
do not have the same areas. Who is correct? Explain using numbers, pictures, and words.
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2. The area of Benjamin’s bedroom floor is shown on the grid
to the right. Each D represents 1 square foot. How
many total square feet is Benjamin’s floor?

Label the side lengths.

b. Use a straight edge to draw a grid of equal
size squares within the rectangle.

c. Find the total number of squares.

[TTTTTTTTI

Benjamin’s
Bedroom Floor
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3.7(B) determine the perimeter of a polygon or a missing length when given perimeter and remaining
side lengths in problems

© 2022-a1s

16 Each side of this figure is the same length. The perimeter of the
figure is 72 inches.

What is the length of one side of the figure in inches?
F 8in.
G 12in.
H 9in.
J 18in.

*Correct Answer (H )
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2. Each shape has a missing side length labeled with a question mark. The perimeter of the shape is labeled

inside. Find the unknown side length for each shape.

6cm

4cm
4cm

6cm

?em

2em

9cm
P=30cm 6cm
9cm
2cm
7cm 7 cm

?2em
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3.7(B) determine the perimeter of a polygon or a missing length when given perimeter and remaining
side lengths in problems

2021-Q9
9 The side lengths of a rectangular mirror are shown in inches.

18 in.

28in.

What is the perimeter of the mirror in inches?
A 72in.
B 46 in.
C 74in.
D 92in.

*Correct Answer (D)
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1. Katy and Jane construct a four-sided wall to surround their castle. The wall has a perimeter of 100 feet.
One side measures 16 feet. A different side measures 16 feet. A third side measures 34 feet.

a. Draw and label a diagram of the wall.

b. What is the unknown side length? Show your work, or explain how you know.
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1.

Complete the following chart:

Base Ten Numeral

Number Name

Expanded Notation

32,400

five thousand, forty-two

(2x10,000) + (6 x 100) + (2 x 10) + (9 x 1)

19,001
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2021 -Q24

24 The perimeter of the rectangular floor of Mr. Bryan’s cabin is 46 feet. The width of
the floor is 10 feet, as shown.

10ft

What is the length of the floor of Mr. Bryan’s cabin in feet?

Record your answer and fill in the bubbles on your answer document. Be sure to
use the correct place value.

*Correct Answer (13)
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4. Mr. Jackson’s class finds all possible perimeters for a rectangle composed of 36 centimeter tiles. The chart
below shows how many students found each rectangle.

Perimeter Number of Students
24 cm 6
26 cm 9
30cm 5
40cm 7
74 cm 4

a. Check the students’ work. Did they find all the possible perimeters? How do you know?
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3.7(B) determine the perimeter of a polygon or a missing length when given perimeter and remaining
side lengths in problems

2019 -Q14

Gina’s journal has a square cover with the side length shown.

\ 4

24 cm

What is the perimeter of the cover of Gina’s journal in centimeters?

Record your answer and fill in the bubbles on your answer document. Be sure to
use the correct place value.

*Correct Answer (96)
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Marlene ropes off a square section of her yard where she plants grass. One side length of the square
measures 9 yards. What is the total length of rope Marlene uses?
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3.8(A) summarize a data set with multiple categories using a frequency table, dot plot, pictograph, or

bar graph with scaled intervals

2022 -Q6

6 The numbers listed show the speed in miles per hour Henry pitched

a baseball.

30, 32, 38, 30, 33, 34, 32, 35, 38, 36, 35, 32, 30, 32, 35
Which dot plot represents the speed of Henry’s pitches?

. : .

. . . b

F . e o o o 0 . e & & 0 0 0 0 00
<t—t——t—t—t—t—1> <+ttt

30 31 32 33 34 35 36 37 38 30 31 32 33 34 35 36 37 38

. . .

. . . . . . .

. . i . . . . .

G . e o o o 0 . . e o o o 0 .
<G————t—t—t+> <ttt

30 31 32 33 34 35 36 37 38 30 31 32 33 34 35 36 37 38

*Conect Answer (G)
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Delilah stops under a silver maple tree and collects leaves. At home, she measures the widths of the leaves to
the nearest % inch and records the measurements as shown below.

Widths of Silver Maple Tree Leaves (in Inches)
1 3
53 6 6— 6 5—
4 4
1 3
6— 6— 5= 5— 6
4 4
6— 6 6 6— 6—
3
6— 5— 6— 6 6—
4
6 6— 6 5= 6—
4 2

a. Use the data to create a dot plot below.
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3.8(A) summarize a data set with multiple categories using a frequency table. dot plot. pictograph. or
bar graph with scaled intervals

2022-Q31

31 The pictograph shows the number of games each team in a
volleyball league won during one season.

Volleyball Games Won

@

@
CERS)

SISI51G)

@

Spikes Aces Stars Nets Digs

Each @ means 3 games won.

Which table represents the data in the pictograph?
Volleyball Games Won

A Team Spikes | Aces | Stars | Nets | Digs
Number of Games Won 12 15 9 6 3

Volleyball Games Won

B Team Spikes | Aces | Stars | Nets | Digs
Number of Games Won 4 3 5 2 1

Volleyball Games Won

c Team Spikes | Aces | Stars | Nets | Digs
Number of Games Won 12 9 15 6 3

Volleyball Games Won

D Team Spikes | Aces | Stars | Nets | Digs
Number of Games Won 4 5 3 2 1

*Correct Answer (C)
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1. The picture graph below represents all the trees in the park.
Trees in the Park

@:Mwes @&
e e s

Birch Oak Ash

@
e

2
©

apl ruce

®
©
k-]
3

Type of Tree

a. Use the grid to create and label a scaled bar graph representing the data in the picture graph above.

b. How many more maple and oak trees are there than birch trees?
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3.8(A) summarize a data set with multiple categories using a frequency table, dot plot, pictograph, or
bar graph with scaled intervals

2021-Q6

6 The bar graph shows the number of math problems each of five students
completed during math class.

Jeff
4+ Amber
Gary

Studen

Farrah

Steve

Math Problems

6 12 18 24
Number Completed

Which list matches the data in the bar graph?

F Jeff: 6
Amber: 24
Gary: 8
Farrah: 14
Steve: 20

G Jeff: 9
Amber: 24
Gary: 6
Farrah: 15
Steve: 21

*Correct Answer (H)

H Jeff: 6
Amber: 24
Gary: 9
Farrah: 15
Steve: 21

J Jeff: 6
Amber: 21
Gary: 9
Farrah: 15
Steve: 24
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1. This frequency table shows the number of students in each class.

Number of Students in Each Class
Class Number of Students
Baking 9
Sports 16
Chorus 13
Drama 18

Use the frequency table to color the bar graph. The first one has been done for you.

Number of Students in Each Class

20,

18,

16,

14

Number
of 12
Students

Baking Sports Chorus Drama
Class




